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Directions for Question Nos. 11 to 14 : Choose the opposites of the words given in the questions

12.

out of the four options given :
11.

Adventitious
{(A) Planned
(C) Tired
Benumbed
{A) Insensitive
(C) Dopey
1(A)3

(B) False
(D) Tried

(B) Dead
(D) Perceptive



13.

14.

Jejune

(A) Pejorative (B) Resemblance
(C) Sophisticated (D) Ignorant
Trenchant

(A) Vague (B) Mordant

(C) Emphatic (D) Caustic

Direction for Question Nos. 15 to 17: Choose the correct sentence out of the four choices given
in each question :

15.

16.

{A) Remember always what I told you.

(B) Always remember what I told you.

(C) Remember what always 1 told you.

(D) Remember what 1 told you always.

(A) I prefer to do my exercises before I had breakfast.

(B) 1 prefer to do my exercises before I have breakfast.

(CY | would prefer to do my exercises before I will have breakfast.

- (D) Before I prefer to do my exercises, I had breakfast.

17.

(A) Originally I came from India, but I have lived in England for twenty years.
(B) Originally I come from India, but I have lived in England for twenty years.
(C) 1 did come from India originaily, but I have lived in England for twenty years.
(D) I had come from India originally, but I have lived in England for twenty years.

Directions for Question Nos. 18 to 20 : Choose the word, out of the four choices given, that best

expresses the meaning of the given expression.

18.

19.

20.

21.

22,

Tending to give orders :

(A) Suppliant (B) Implacable
(C) Dictatorial (D) Unruly
Unyicldingly hostile : ‘ _

(A) Cruel - (B) Placative
(C) Implacable (D) Dictatornal
Able to be soothed :

(A) Placable _ (B) Soft

(C) Kind (D) Congenial

What minimum support price (per quintal) for the rabi 2010-11, Wheat to be marketed
during 2011-12 marketing season has been fixed by the Government ?

(A) Rs. 1080 (B) Rs. 1100

(C) Rs. 1120 (D) Rs. 1180

Nirmal Bharat Abhiyan Yojana is associated with :

(A) The development of Bihar

(B) Community toilets in slum areas

(C) Construction of houses for low income groups

(D) Eradication of poverty
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24.

23.

26.

27.

28.

29.

30.

31.

From which of the following taxes, the Central Government will get the maximum revenue in
2011-12 ?

(A) Custom Duties | (B) Income Tax

(C) Excise Duties (D) Corporation Tax

Global Hunger Index released by IFPRI in October 2010 places India at :
(A) 58th rank . (B) 64th rank

(C) 67th rank (D) 74th rank

Investment, consumption, real income level, and Infrastructure Development are elements
of .
(A) Economic constraints (B) Global influence

(C) Economic stability (D) Economic soundness
How many states have common Border with Punjab?

(A) 3 (B) 4

©)5 . D)6

Which is NOT a part of the World Bank Group?
(A) International Financial Corporation
(B) International Development Association

(C) Multilateral Investment Guarantee Agency

(D) Multinational Investment Guarantee Agency

Which of the following is known as ‘Himadri’ ?

(A) It is India’s Space Craft launched to study the moon

(B) Itis India’s first Research Station in Arctic Region

(C) It is new battle tank produced by India

(D) It is new warship inducted in the Indian Navy recently

“World Day for Water” was observed on which of the following days ?
(A) 22nd January (B) 22nd February

(C) 22nd March (D) 22nd April

Inflation has become major area of concern in India these days. What measures do the Govt.
of India / RBI normally take to control the same?

(1) Fixation of Maximum Price of the Commodities

(2) System of Dual prices.

(3) Increase in supply of food grains.

(4) Control on credit and liquidity in market.

(A) Only1 , (B) Only2

(C) Only 3 (D)Only2,3&4
Golden revolution refers te the development of :

(A) Oilseeds (B) Pulses

(C) Horticulture (D) Cereals
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33.

34.

33.

36.

38.

39,

40.

41.

SRI technology is practiced for the cultivation of :

(A) Vegetables (B) Flowers

(C) Rice (D) Wheat

From where is Krishak Bharati magazine published ?

(A) G. B. Pant University of Agriculture & Technology, Pant Nagar

(B) C.S. A. University of Agriculture & Technology, Kanpur

(C) Narendra Dev University of Agriculture and Technology, Faizabad

(D) Sardar Vallabh Bhai Patel University of Agriculture and Technology, Meerut
Patela is used for :

(A) Sowing , (B) Levelling

(C) Earthing (D) Weeding

When was the first EPZ set-up in Kandla ?

{A) 1965 (B) 1970

(C)-1975 - (D) 1995

India’s First centre to monitor climate change was opened recently at :
(A) New Delhi (B) Chennai

(C) Jaipur (D) Bangalore

. Which of the following items are not considered to be export promotion measures?

1. Quota certificate 2. Cash compensatory assistance
3. System of exchange control 4. Marketing development fund
Select the correct answer from the codes given below :

(A)land 3 (B) 3and 4

(C) land 4 (DY 2and 4

There are four types of ports :

(A) Maritime hub, gateway port, logistic industrial port, trade port

(B) Inland port. seaward port. trade port, maritime hub

(C) Land-locked. maritime hub, gateway port and industrial

(D) Trade port. land-locked, seaward port, outland

Punjab produces ......... per cent of Wheat and ...... per cent of Rice respectively in the
country :

(A) 40. 36 (B) 36, 28

(C) 32,20 ' (D)22,12

Of the five Takhts of Sikkhism, .ccconeene is/are in Punjab.

(A) one (B) two

(C) three (D) four

Swaroop and Simple want to attend a seminar together between 9 a.m. te 5 p.m. on Friday.
Simple cannot leave tiil after her lunch break which begins at 1.30 p.m. Swaroop is free after
her meeting which ends at noon. For how many hours can the two of them attend the seminar?
(A) 3V hours (B) 2% hours
(C) 4% hours (D) 1% hours
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43.

44,

45.

46.

47.

Eight books are kept one over the other counting from the top.The second, fifth and sixth
books are on plays. Two books on plays are between two books on composition. One book of
plays is between two books on poetry. While the book at the top of the book of literature is a
book of composition .Which book is fourth from the top ?

(A) Plays (B) Poetry

(C) Composition , (D) Literature

Accidents on roads can be prevented, provided the quality of roads is improved and the
drivers are instructed in safety rules which they must follow for their own protection. It is
also necessary that the illumination on the roads is adequate so as to prevent accidents at
night.

This paragraph best supports the statement that

(A) Road accidents are solely due to improper illumination.

(B) Road accidents result in large number of deaths.

(C) Road accidents are man made and are always avoidable.

(D) Safety rules are not taught properly to all drivers.

Five girls are sitting in a row, Rashi is not adjacent to Sulekha or Abha. Anuradha is not
adjacent to Sulckha. Rashiis adjaceht to Monika. Monika is at the middle in the row. Then,
Anuradha is adjacent to whom out of the following ?

(A) Rashi ' (B) Sulekha
(C) Abha (D) Monika
Complete the sentence with the appropriate words.
Although historians have long thought of Genghis Khan as a
by many of his subjects.

(A) tyrannical abhorred (B) despotic
(C) redundant venerated (D) jocular
In the following question, there is a certain relationship between two given words on one side
of : : and one word is given on another side of : : while another word is to be found from the
given alternatives, having the same rclation with this word as the words of the given pair

potentate, new research

has shown he was
revered

esteemed

bear. Choose the correct alternative.

Wimbledon Trophy : Tennis :: Walker’s cup : ?

(A) Hockey (B) Polo

(C) Golf (D) Wrestling

Mr A, Miss B, Mr C and Miss D are sitting around a table and discussing their trades.
(1) Mr A sits opposite to cook.

(2) Miss B sits right to the barber.

(3) The washer man is on the left of the tailor.

(4) Miss D sits opposite to Mr C.

What are the trades of Aand B ?

(A) Tailor and Barber (B) Tailor and Cook

(C) Barber and Cook (D) Washer man and Cook
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49.

50.

51.

52.

Itis not luck but labour that makes man. Luck, says an American Writer, is ever waiting for
something to turn up; labour with keen eyes and strong will always turns up something.
Luck lies in bed and wishes the postman would bring him news of legacy; labour turns out at
six and with busy pen ringing hammer lays the foundation of competence. Luck whines,
labour watches. Luck slips downwards to self-indulgence; labour strides upwards and aspires
te independence. The conviction therefore, is extending that diligence is the mother of good
Iuck. In other words; that a man’s success in life will be proportiohate to his efforts, to his
industry, to his attention to small things.

Which one of the following statements sums up the meaning of the passage ?

(A) Luck waits without exertion, but Jabour exerts without waiting.

(B) Luck is self-indulgent but labour is selfless.

(C) Luck waits and complains without working while labour achieves although it complains

(D) Luck often ends in defeat, but labour produces luck.

If Flower is called TREE, Tree is called RED, Red is called GOLD, Gold is WHITE, what are
ornaments made of?

(A) TREE (BY RED

(C) WHITE (D) FLOWER

Three of the following four have similar relationship and hence form a group. Which one
does not belong to the group?

(A) BROTHER : DORVEHT (B) ENGLISH : GGNNSIJ
(C) ANOTHER : CONVEHT (D) BETWEEN : DTEZEEP
Portrait and Landscape in Ms-Office are '
(A) Page Orientation (B) Paper Size
(C) Page Layout (D) All of above
What will be the out put of following ‘¢’ program
#include<stdio.h>
main()
{

int varl=10, var2=20;

if(vari=var2)

{  printf(“\nVar1 and Var2 are equal.”);

exit(); } .

else

{ printf(*\nVarl and Var2 are not equal.”); }

printf(“\nProgram Ends.”);
) .
(A) Varl and Var2 are equal. (B) Varl and Var2 are not equal.
(C) Varl and Var2 are equal. (D) Varl and Var2 are not equal.

Program Ends. Program Ends.
1(A)8



53.

54.

35.

56.

57.

58.

59.

60.

61.

62.

To host a web site which of following is required ?

(A) Database server (B) Mail Server
(C) Exchange Server (D) Web server
Find and Replace utility is available in :
(A) MS-Word (B) MS-Excel
(C) MS-PowerPoint S (D) All of the above
MS-Accessisa:
(A) Database Tool (B) Programming Tool
(C) Web Page Creation Tool (D) None of the Above
A terminating decimal when expressed in fractional form always have denominator in the
form of
(A)2"3" m,n>0 (B) 375", m,n>0
(C) 5" 7 mn>0 (D)2" 5" m,n>0
The degree of the polynomial X’ +x-2+7is
(A)3 B)1
(C)0 (D) -2
If ABC and DEF are two similar triangles such that /A = 47° and ZE =83° then £  is
(A) 30° (B) 60° : '
(C) 50° (C) 9C°
If 7th and 13th terms of an A.P. are 34 and 64 respectively then its 18th term is
(A) 87 (B) 88
(C) 89 (D) 90
If x tan 45° cos 60° = sin 60° cot 60° then x is equal to
(A) 1 (B) -1
(C) 2 (D) 172

Which of the following statements is NOT CORRECT ?

(A) In a proper random sampling, every element of the population has a known (and often equal)
chance of being selected.

(B) The precision of a sample mean or sample proportion depends only upon the sample size (and
not the population size) in a proper random sample.

(C) Convenience sampling often leads to biases in estimates because the sample is often not
representative of the population.

(D) If a sample of 1,000,000 families is randomly selected from all of Canada (with about 8,000,000
families) and the average family income is computed, then the true value of the family income
for all families in Canada is known. ‘

In a hypothesis testing preblem : :

(A) the null hypothesis will not be rejected unless the data are not unusual (given that the hypothesm.'
is true).

(B) the null hypothesis will not be rejected unless the p—value indicates the data are very unusual
(given that the hypothesis is true). '
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64.

65.

66.

67.

68.

(C) the null hypothesis will not be rejected only if the probability of observing the data provide
convincing evidence that it is true. '

(D) the null hypothesis is also called the research hypothesis: the alternative hypothesis often
represents the status quo. _

Your company uses direct marketing to reach its customers. Your direct mail pieces include

2 telephone number and a Web address. Your company directs the consumer to visit your

Web site and print coupens for your products. This is an example of what stage of direct

marketing?

(A) Carpet bombing (B) Lifetime value marketing

(C) Database marketing (D) Interactive marketing

Fools Gold Mining Company is expected to pay a dividend of $8 in the upcoming year.

Dividends are expected to decline at the rate of 2% per year. The risk-free rate of return is

6% and the expected return on the market portfolio is 14%. The stock of Fools Gold Mining

Company has a beta of ~0.25. The return you should require on the stock is

(A) 2% (B) 4%

(C) 6% (D) 8%

Which of the following would tend to reduce a firm’s P/E ratio?

(A) The firm significantly decreases financial leverage

(B) The firm increases return on equity for the long term

(C) The level of inflation is expected to increase to double-digit levels

(D) The rate of return on Treasury bills decreases '

Which of the following conditions must be satisfied in a claim for loss by fire?

1. There must be actual fire.

2. Fire must be accidental.

3. Cause of fire must be ascertainable.

4. The goods must have been destroyed, not damaged by fire.

Select the correct answer using the codes given below :

(A) land 2 (B) 1and 3

{C) 2 and 3 (D) 3 and 4

The following is capital receipt :

(A) Dividend from investment;

(B) Bonus shares;

(C) Sale of technological know- how;

(D) Compensation received for compulsory evacuation of place of business.

The five modes of entry into foreign markets generally flow by increasing commitment, risk,
control, and profit potential as follows .

(A) indirect exporting, direct exporting, licensing, joint ventures, and direct investment
(B) direct investment, joint ventures, licensing, direct exporting, and indirect exporting.
(C) direct investment, joint ventures, and licensing

(D) direct investment, joint ventures, licensing, and indirect exporting
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70.

71.

72.

In the past Kodak was not necessarily known for embracing technology that did not come

from Kodak engineers and designers. However, as Kodak addresses the digital revelution

taking over the photographic industry, it wants customers to see it as a leader in digital

photography and is moving away from its connection to print-only photography. This would

be an example of which of the following value-creation steps?

(A) Redefining the big idea. .

(B) Reshaping the business scope.

(C) Repositioning the company’s brand identity.

(D) Redoing its corporate logo.

Which of the following are included in the ‘Statutory Books’ for the purpose of company

audit ?

1. Register of charges

2. Minutes Books for the Board meetings

3. Articles of Association

4. Minutes Book for the shareholder’s meeting

5. Register of members

6. Memorandum of Association

Select the correct answer using the codes given below :

(A)1,2.4and 3 (B) 2,3,4and 6

(C)1,3,5and 6 (D)2,3,5and 6

The June 1999 Basle Committee on Banking Supervision issued proposals for reform of its

1988 Capital Accord (the Basle II Proposals). These proposals contained MAINLY.

(D) Settlement risk management

(IT) Capital requirements

(1) Supervisory review

(IV) The handling of hedge funds

(V) Contingency plans

(VI) Market discipline

Choose the correct answer :

(A) I, 11E, VI (BYILIV,V

(O LIV.V (D) 1L, 1L, VI

If any expenditure is incurred by an Indian company wholly and exclusively for the purpose

of amalgamation or demerger, the said expenditure is :

(A) Not allowable as a deduction in computing profits and gains of business or profession.

(B) Fully deductible as revenue expenditure in the year in which it is incurred.

(C) Not deductible but is eligible to be treated as an intangible asset in respect of which depreciation
can be claimed.

(D) Allowed as a deduction spread over five successive previous year beginning with the previous
year in which the amalgamation or demerger takes place.

A1



73.

74.

75.

76.

- 77,

National Policy for Farmers 2007 is formulated / based on the recommendations of :
(A) Committee on Financial Inclusion

(B) Forward Market Commission
(C) Working Group on Agriculture
(D) National Commission on Farmers
The Head Quarters of CFTRI—the leading institute for research on various food products is
located at :
(A) Mysore ' (B) New Delhi
(C) Mumbai (D) Calcutta ‘
Is an organized movement of citizens and govemment agencies to improve the rights
and power of buyers in relation to sellers
(A) Environmentalism (B) The Bill of Rights
(C) Grassroots politics (D) Consumerism
At the second Ievel of sustaining the envix:onment companies can minimize not just pollution
from production, but all environmental mmpacts throughout the full product life cycle. What
is this practice called?
(A) design for environment (B) product stewardship
(C) corporate accountability ' (D) social responsibility
Modernization of industries can be achieved by :
(A) €nsuring proper enforcement of the provisions of BIFR Act

" (B) permitting PSUs to disinvest

78,

79.

80.

81.

(C) strictly implementing the provisions of industrial (Development and Regulation) Act, 1957
(D) creating consciousness among the industrialists about the need for modernization

The US is one of the biggest exportei's of chopsticks. This is because the US has great resources
in terms of forest products. This is an example of :

(A) Factor endowments (B) Life cycle theory

(C) Technology gaps (D) Information usage

National Research Centre on Plant Bictechnology is situated at ;

(A) New Delhi (B) Mumbai

(C) Kolkata ' (D) Chennai

With the exception of the , few regional agreements have specified the
rules of non-tariff barrier reduction, intellectual property protection, and service trade.

(A) NAFTA (B) APEC

(©)EU - (D)NBC

The provides a less painful adjustment mechanism to trade imbalances than
do fixed exchange rates and prevents a country from having large persistent deficits.

(A) Flexible exchange rate system (B) Foreign exchange rate system

(C) Nominal exchange rate system (D) Unfixed exchange rate system
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87.

88.

89.

96.

What subsidiary strategies play a key role in balancing integration and local responsiveness?
(A) Autonomous, receptive, active

(B) Muiti-domestic, global, transnational

(C) Strategic leader, contribution, implementer

(D) Design, knowledge, structure

This term is often used to describe what a foreign firm might be doing by starting a GSA with
local partner to gain access to the local market.

(A) Piggybacking (B) manipulating

(C) taking advantage of (D) leapfrogging

A revolving letter of credit :

(A) Automatically renews | (B) is always transferable

(C) is the obligation of only the issuing bank (D) is always cumulative

A major weakness under this method is the treatment of inventory and long-term debt.

(A) current/non-current method (B) monetary/non-monetary method
(C) accounting method (D) transitional method
An example of is the Big Mac index that shows the different prices a McDonald’s Big

Mac costs in selected locations around the world. United States the Big Mac cost $2.51 and in
Isracl it cost $3.58.

(A) global pric‘:incr (B) Purchasing Power Parity

(C) intermediation (D) localization forces

The jurisdiction of the M.R.T.P. commission with respect to monopolistic trade practlces is
not exercisable upon/under : ‘ '

(A) a reference made to it by the Central Government

(B) an application made to it by the Director General

(C) its own knowledge or information

(D) any of the abovementioned circumstances.

Global payment systems that place priority on speed of transaction rather than knowing

" whether the electronic money transfers are legal is an example of a practice that encourages

(A) early withdrawal penalties (B) bribery

(C) counterfeiting (D) money Jaundering

is a ratio that measures the firm’s internal performance with respect to key activities
defined by management.

(A) A liquidity ratio (B) An activity ratio

(C) Return on total assets (D) A current ratio

Net income divided by sales is the correct formula for calculating :
(A) return on total assets (B) a current ratio.

(C) aliquidity ratio. ' (D) profit margin on sales.
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96.

98.

99.

Quality circles are based on the assumption(s) that :

(A) the people who do the job know it better than anyone else.

(B) quality can be increased by increasing the size of the organization.

(C) quality can be increased by talking more about it.

(D) the more employees talk, the more satisfied they will be.

A comprehensive management control system that balances traditional financial measures
with operational measures relating to a company’s critical success factors is called a(n) :

(A) economic value-added system. (B) activity-based costing system.
(€) market value-added system. (D) balanced scorecard.

The most common approach to selecting a site for a new location is to :

(A) look for bargains. (B) do a cost-benefit analysis.

(C) identify expansion possibility. . (D) evaluate the labor supply.

Which of the following statements about inventory is NOT true?

(A) Inventory sitting on the shop floor costs money.

(B) The best criterion for gauging the effectiveness of manufacturing operations is inventory.
(C) A company’s worth can be measured by the size of its inventory.

(D) Large inventories hide operations management problems.

When managers do a better job of running a business, it is called :

{A) worker productivity. (B) production.

(C) managerial productivity. (D) outsourcing.

The moral rights approach that deals with individuals refraining from carrying out any
order that violates their moral or religious norms is the :

(A) right of free consent. (B) right to privacy.

(C) right of freedom of conscience. (D) right of free speech.

. Disk Replacement Services has just completed a procedure manual to handle employee

grievances. One of the main criteria is to make it clear to employees that rules will be
administered fairly and consistently. Disk Replacement operates on :

(A) the procedural justice approach. (B) the utilitarian approach.

(C) the individual approach. (D) the defensive approach.

The purpose of most privatization programs is all of these EXCEPT :

(A) to improve productivity. (B) to improve profitability.

(C) to improve quality. (D) to increase the size of government.

- Global Positioning Systems are useful for :

(A) Determining precise location (latitude and longitude) based on radio signal.

- (B) Determining precise distance based on radio signal.

100.

(C) Determining general pest system.
(D) Determining disease forecast. . ‘
Commission for Agricultural Costs and Prices (CACP) recommends :

(A) Comfort Price. (B) State Advised Price.

* (C) Minimum Support Price. (D) Statutory Minimum Price.
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